Mathematlcs Paper Xl (01) (18)
A A ubUbuIi’(’f ....’/":Uh:ft...u_../lulod_lfﬂdlr el
LIS 2 D LG8 2

Kool tie b fe S tie (b 12

(T

Roll No
Time Allowed. 20 Minutes

SECTION=A

o —

e

IRWASTII T ot R T T bpre s ammt =S ot e g

FE A

, Marks: 20" -
1 Solution of 2% + 3 < XIs.......... O x>3 & <3 O x>-3 O x23
2 Cos{e~ p) -~ Cos(a+;3)-;.......;..'.. O ZCOSOLVCVOS O 25ino.Cosp @ 25ihasing O 2Coso. Sin
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4 ZCos[——éﬂ)Sm( 2¢J~ ............... @ Sind ~ Singy O Sm9+Sm¢ O CosO+Cos¢ O Coso- Cos¢
5 In half angle formula S(Sa;C)z ......... O Sm_—z-, O Cos%_ , @ 'CO§~2~_,_ 0O .Siné-
(37 |
6 Tan[ y J:,..-. ...... — » O % O 1 O 0 ) ..1.
7 @i-3)xK=.......... O 3~ @ -3i-2 QO 3ivy _‘Q 2i- 3
8 JixK= e .. O Qo Ot @ -1
In inserting n arithmetic means between ’
9 aandblhgnbm.....!. O dn O an-1 . O an+1 @ n+2
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A function which is both one - one and L o L Norne of
13 onto is called................ _ O Injective Q) Suiective @ Bijeciive these
14 i35 O : O -i O O -1
15 zZisequalto............... @ |27 O z Oz O |4
16 In(x + iy} the real partis........... O« (O xzey2 @ - O
. . , Transpose Symmelric Skew ~ Inverse
17 1A'= Athen Als caled............. O matrix @ matrix O symmelric O matrix
A syslem AX = 0 of three homogeneous : '
18 linear equalions in three variables (O Many (O Unique & Trivial (O Non-trivial
has........: .solution if (A 0. _ )
A square malrix is identity matrix if and s » . None of
19 only if aij = 0 for 7% and aij=1for...., @ o O +l O e O these
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Note: Time allowed for Sectlon — B and Sectlon - C I8 2 Hours and 40 minutes. ,
A . Section = B Marks: 50

Q-l  Answer any TEN parts. Each part carries FIVE marks. ‘ '
1. Separaleinto réal and lmagmary parts 3- 43—1

_ . 3 1 2
2. Evaluate. | 60 5 4
' —9 8 -7

3. IfP=2i -jandg= x:+31thenﬂndmevaluexsudllhallp+q|

4, Find a unite vector perpendicular to both a n-j + 2k and b=-2it] j— 3k
7 5.  Findxso that x + 7, x—3, x - 8 forms a three term gecmetnc sequence in the gwen order.
"6 Sumtontemsthe series 1+ 2x+ 32 + 4+ R
7. Solveforn, "P g= 9("'ry)

8.. 27> n v ne Nprove.

Find the point of intersection graphically of the functions f(x) =~ x+2 g(x) =2x+1

Cos%0 ~Sin0 _2+45in20
Cos0—SinB 2 '

10, Prove that

a+P) -
+b Tan( 5 1
11 In any tnangle ABC, show that 2
()
. an
2
12, Find the period of y = —;-Secx
13, Show that Sinx+ Cos-'x = = - .
Sectlon -C ' Marks: 30 .

Note : Attempt any THREE questions. Each quesﬂon carrios equal marks.

. 1 0 -2
Qi {(a) Findtherankof} 2 2 1
-1 2 3

| (b) . How many terms are there in the arithmetic sequence in which the first and the last terms

are -:? and = reSpectwer and the common difference is -

Qv (3 Findnandrif P, = 840 and "G, =35
()  Provethat 22" 1is muluple of 3forall posutve integers.

Qv () An isosceles lnangle has avertical angle of 108° and a base 20 cm long Calculate |ts altitude.
(b} Minimize f{x,y) = 3x + 4y subject to the constraints 2¢+ 3y 26, x +y<8,x2 0,y= 0.

Qv {a) Find the area of the inscribed circle of the tnangle with measures of the sides 55m, 25m and 70m.

(b)  Showthat Cos(Sin-h(—SIn"-)')= (1""2)(1”2)“‘7 .



